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1 [UR=DT [#iRE 2| 100% 1 1 [UR=2F  [BRE 2] 100% 1 1 VR=2T [RIRE 21 1004
2 [UR=2F [BRER 2 88% 2 [VR=2F  [EIRE 2| 100% 2 |YAR=2T  |ZEIREL 2 60%
3 [UR=2T [#RE 2 o5% 3 [JR=2T  [ERE 2 9% 3 WA=2T  EIRER 2 40%
4 |YR=2YT  [EIRE 2 100% 2 4 WA= | FERE 2 92% 2 4 |VRZ=VT  [EIRE 2 20%
5 [UR=2T [BIRK 2 7% 5 [UR=2T  [EiREX 2] 100% 5 |WA=2T  EIRER 2 20
6 [UR=oF |ERE 2| 100% 3 6 [UR=2F  |EIREE 2| 100% 3 6 |VR=2T [#IREX 2| 100%
7 |YRZ=VYT  |BREX 2 100% 7 [(DR=VT [EIRER 2 92% 7 [VRZVY [ERE 2 80%
8 |UR=oF |[ERE o[ 1o0% 1 8 |UR=oF _ [EIRER 2| 100% 1 8 |VA=2Y  |ZEiRA% 2 80%
9 [UR=2F [ERE o 100% 9 [VR=2F  [ERE 2 54% 9 [YR=2T  |ZEREL 2|  100%
10 [VR=VT  [EIREX 2 88% 10 VA=V [EIRE 2 92% 10 [YR=VY  |EEIRER 2 100%
1 [JR=2F &R 2 88% 1 [JR=2F  |[ERE 2| 100% 1 [YRZ2T | IRE 2 80%
12 [JRA=2F |[ERK o 1o0% 12 [UR=2F | &RE 2 7% 12 |VZ=2T  [ERE 2 80%
13 [UR=2 5 |[#RE 2| 88w 13[JR=2F  [BIRE 2| o2 13 VA= |HEiRER 2, 100%
14 [JR=2F |[ERK 2 88% 14 [JRA=2F _ [BIRE 2 92% 14 |NVR=2T  [ERE 2 40%
15 [JR=oF |BiRE 2| 100% 15 [UR=>4  [EIREE 2| o 15 (VR=27 LERE 2| 80k
1 =T 427 [EREE 2 63% A 1 [J—T427 iR 2 69% A 1 V=T 127 ;ZEiREk 2 40%
2 [U=—T4> 7 [ERE 2| 7o 2 [J=F405 [BRE 2] 100% 2 [U=T4>7 [EiRE 2 so0%
3 (V=T 7 iRk 2 25% 3 |U—T1vy [FERE 2 85% 3 |V—T1 5 [EIRE 2 80%
4 |)—FT17 [ERE 2 13% 4 [V=F42T |ERER 2| 46w 4 |)—T427 [EIREK 2| 40%
5 |U—T127 [BEIREK 2 50% 5 |U—Tav9 [ZERE 2 54% 5 |V—T127 [ZFEREX 2 40%
6 |J—T 1427 [FEREKX 2 75% B| 1| 6 [)V—T1vT [ZFEiRE 2 92% B| 1| 6 |V=FT427 i#REX 2 80%
7 |U—=T127 [FEiRE 2 88% 1 (V—=T4>0 [FERE 2 54% 1 |)—T127 [ZFEIREX 2 40%
8 |U—T127 [FEREK 2 88% | 8 |J—Ta4vT [EREK 2 85% | 8 |V—T427 [ERE 2 80%
9 [U—T4F ERE 2 88% ) 9 [U—F+42F [ERE 2| 100% 9 9 V=T 427 |;EiREL 2 40%
10 |U—T 127 |ZEiREX 3 63% C| I [Ho[V—=TFT1>F [FERE 3 7% C| I [10|V—T17 [ZFEiREX 3 0%
1 |J—T127 [ZEiREX 3 50% N (V—=F74>5 [ERE 3 62% 1 |U—T127 |FEREX 3 20%
12 [U—T 427 |ZiREE 3 88% I [12 [U—F+42F [EiRE 3| 100% I 12 V=T 127 |;ZEiREK 3|  40%
13 |J—T 127 |ZEiREX 3 25% 13 ()—T4>5 [FERE 3 7% 13 |U—T 127 [ZFEIRER 3 40%
14 | J—T127 |ZEiREX 3 63% D 14 [V—T4>5 [EIREK 3 54% D 14 | J—T127 |FEREX 3 60%
15 [U—T 427 |ZiREE 3 50% 15 [U—T425 [EIRE 3 31% 15 [U—T 127 |BIRE 3|  40%
16 [V —F 1> 7 |G 6 0% 16 [V—F¢>7 [5@ib 6 15% 16 [)—T 127 |5t 6 20%
17 |)—T4>7 |k 6 38% 17 |)—T74>% |ftih 6 46% 17 |)—T4>7 |iidk 6 20%
18 [—F 17 |Gk 6 13% 18 [J—F4>7 [5aat 6 23% 18 |V —F 147 |Eiil 6 204
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